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QUESTION 1

A customer has integrated the HCP tenant with Enterprise Vault 9.0 (EV9) for Microsoft Exchange 2007.
The EV9 server reads and writes from the HCP without any problem. The

customer would like to grant read access to a few users from certain machines for EV9 backup objects.
Which two actions should the customer perform? (Choose two.)

A. Configure the proper CIFS and NFS settings on the HCP.

B. Configure the proper settings on the EV9.

C. Configure the proper HTTP settings on the HCP.

D. Configure the proper SMTP settings on the HCP.

Correct Answer: BC

QUESTION 2

A customer ordered a HCP 500 DL system. One of the nodes must be replaced. The HBA is in its original
configuration.

Which three actions should you perform? (Choose three.)

A. Configure the HBA to boot from LUN100 of the connected Hitachi storage system.

B. Reload the HBA firmware.

C. Enable the HBA BIOS.

D. Set the HBA topology to point-to-point.

E. Set the boot sequence to a USB boot device.

Correct Answer: BCD

QUESTION 3

What is a valid HCP configuration?

A. 2 node HCP 300 with RAID 5 (5+1) DPL2
B. 4 node HCP 300 with RAID 6 (5+2) DPL2
C. 4 node HCP 500 with RAID 5 (5+1) DPL2

D. 4 node HCP 300 with RAID 5 (5+1) DPL2
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Correct Answer: D

QUESTION 4

What does a configured HCP 500 node use for booting?
A. It uses an internal IDE hard drive.

B. It boots the LU N from SAN.

C. It boots from a network using BOOTP.

D. It uses a special boot sector from flash memory.

Correct Answer: B

QUESTION 5

When connecting HCP nodes to the storage SAN fabric, which two approaches must be used? (Choose two.)
A. Connect port 1 on each node in the HCP system to an even port on the fabric switch.

B. Connect port 0 on each node in the HCP system to an even port on the fabric switch.

C. Connect port 0 on each node in the HCP system to an odd port on the fabric switch.

D. Connect port 1 on each node in the HCP system to an odd port on the fabric switch.

Correct Answer: BD
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